Проверочная работа по теме: «Системы счисления»
	Вариант№1

1) 4910–?2
	2) 11101,12– ?10
	3) 4510 – ?16
	4) 118 – ?2

	5)5,12510-?2
[image: image1.wmf]
	А) 7358+6238
Б) 101112-1012
В) 91916+D916



	
	
	
	
	
	

	Вариант№2

1) 3110–?2
	2) 10111,012– ?10
	3) 6210 – ?16
	4) 338 – ?2

	5)23,2510-?2
	А) AC716+A916

Б) 7358-2678

В) 10102+1112


	
	
	
	
	
	

	Вариант№3

1) 4510–?2
	2) 10101,12– ?10
	3) 7710 – ?16
	4) 228 – ?2

	5)5,2510-?2
	А) 11112+1012
Б) 2378-568
В) 1AC16+BD16


	
	
	
	
	
	

	Вариант№4

1) 2910–?2
	2) 11001,0012– ?10
	3) 7410 – ?16
	4) 328 – ?2

	5)11,12510-?2
	А) 2628+468
Б) 10002-1102
В) 17C16+AB16


	
	
	
	
	
	

	Вариант№5

1) 3710–?2
	2) 11001,012– ?10
	3) 5910 – ?16
	4) 218 – ?2

	5)17,510-?2
	А) 10112+1012
Б) 1738-678
В) 25B16-DF16


	
	
	
	
	
	

	Вариант№6

1) 4710–?2
	2) 10001,0012–?10
	3) 4410 – ?16
	4) 238 – ?2

	5)13,2510-?2
	А) 100112+1012
Б) 1218-678
В) D1216+DE16



	Вариант№11
1) 4910–?2
	2) 11101,12– ?10
	3) 4510 – ?16
	4) 118 – ?2

	5)5,12510-?2
[image: image2.wmf]
	А) 7358+6238
Б) 101112-1012
В) 91916+D916



	
	
	
	
	
	

	Вариант№12

1) 3110–?2
	2) 10111,012– ?10
	3) 6210 – ?16
	4) 338 – ?2

	5)23,2510-?2
	А) AC716+A916

Б) 7358-2678

В) 10102+1112


	
	
	
	
	
	

	Вариант№13

1) 4510–?2
	2) 10101,12– ?10
	3) 7710 – ?16
	4) 228 – ?2

	5)5,2510-?2
	А) 11112+1012
Б) 2378-568
В) 1AC16+BD16


	
	
	
	
	
	

	Вариант№14

1) 2910–?2
	2) 11001,0012– ?10
	3) 7410 – ?16
	4) 328 – ?2

	5)11,12510-?2
	А) 2628+468
Б) 10002-1102
В) 17C16+AB16


	
	
	
	
	
	

	Вариант№15

1) 3710–?2
	2) 11001,012– ?10
	3) 5910 – ?16
	4) 218 – ?2

	5)17,510-?2
	А) 10112+1012
Б) 1738-678
В) 25B16-DF16


	
	
	
	
	
	

	Вариант№16

1) 4710–?2
	2) 10001,0012–?10
	3) 4410 – ?16
	4) 238 – ?2

	5)13,2510-?2
	А) 100112+1012
Б) 1218-678
В) D1216+DE16



